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10. Mr. ‘X’ has three children. The birthday of 10. fiveY Taw & &9 722 81 Tgd o= &1
the first child falls on the 5th Monday of April, Sfe= il ¥ 53 WWAR S USaT 8, T &1
that of the second one falls on the 5th FdaY & 53 AR B! USAT ¢ I AN o=
Thursday of November. On which day is the &1 wfe 5w R 2 &t 20 R Hrwzar 2

birthday of his third child, which falls on 20th UPSC PT 2020
December? UPSC PT 2020
a. Monday a. GIHAR
\)/Thursday \_/b(ﬁ"
c. Saturday c. AfFaR

d. Sunday d. Ifdar
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11. In the particular year 12th January is a 11. 5t Aty ad & 12 o=t & AR 8, @
Sunday, then which one of the following is \P
correct? UPSC PT 2020 ITRITEG d A I W

UPSC PT 2020

a. 15th July is a Sunday if the year is a leap 2 J1G 34 &0 a4 3 Y 15 g ¥fam 81
b. oty ad =8 8 at 15 oo ar 81

year.
b. 1 P;:.l!.usaSunday if the year is not a ¥ ﬁlﬁﬂﬁt?ﬁlzmﬁmtl
12th July is Sunday if the year is a leap d. 9fg ad oty ad 2 &t 12 qend &) War 78 2

year.
d. 12th July is not Sunday if the year is a

leap year.
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12. The year next to 1991, having the same 13 1991 & 3T fFw adf &1 FdT 1991 ST

calendar as that of 1991 is B g
ki Mo P

a. 1998 a. 1998 J2. —2 ¥ =

s 5 -

d. 2003
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13. The year next to 1988, having the same 13, 1988 ¥ 3T f&w ad &1 FdAsT 1988 o &
calendar as that of 1988 is g

a. 1996 a. 1996

b. 2 b.2
2016 %ﬁ‘

d. None of these d. 39 | HI§ 81
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PATSR SIS P Sy P e 14. et &t w1 anfRf = @ wwan :
\/:/T‘My a. HeaR g—;—— FY l~
Wednesday \ b gYaR *' w
¢. Thursday c. AR 3 QOP
5 d. wfar | — Moy
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1) A watch which gains uniformly ,is 5 1) U® U3l &l ¥0H ¥U & Fgd! 8, 98 WO
min,slow at 8 o'clock in the morning on E’IWBIQSWW(@)M?W
sunday and it is 5 min 48 sec. fast at 8 A IAAR #I 7d 8 T 5 AT 48 AFT

p.m on following sunday. when was it  dW (BI) Bldl 81 U8 US! ®a We 90U

correct? a1 81 4

a) 7pm on Wednesday a) qUAR B! AH 7 o
\9/2§minpast7pmonWednesday \y/gfmnﬁm7wzofﬁ=tz

c) 15 min past 7 pm on Wednesday c) gmuﬂm7m1sfﬁ=tz

d) 8 pm on Wednesday d) gmuﬂmuﬁ
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2) In a watch, the minute hand crosses the 2) u® w3l # e &t ¥ =T IHY F 8T 3

hour hand for the third time exactly after
every 3 hr 18 min and 15s of normal time.
What is the time gained or lost by this

watch in one day?

a) 14 min 10 s lost

\/bémin“slost

¢) 13 min 20 s gained
d) 14 min 40 s gained

ue 18 firae 3R 15 AFE & arg e dd

R U2 P! Y§ B! UR (H1H) Sl ¢ 1 98 gI
s fe= o fva=n aw ar didt gift 2

a) uﬁnzwmsﬂ!ﬁﬁ'ﬁ

13 fiFe 48 IFs dhit et
¢) 13 e 20 A% s &1 99y A= grft
d) 14 =T 40 % T &1 99y A= gt
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3) Find the time between 11 am and 12 pm, 3) 11 @9 Yafg 3R VT 12 T & &9 H71 34
when the angle between minute and hour mﬁmﬁﬁmmﬁﬂzmﬂ%lﬁ!{f

handiaiSdegrees. & dha &1 3 45 3 g
S\
9 N
\}A)/minpastn \))/nmwyﬁﬁﬁ Q [ — INar
(B) 13 in past 11 b) 113waY 13 fie ll
(C) 12 min past 11 ¢) 1 audR 12 fH=e

(D) 68 2/11 min past 11 d) 11T 68 2/11 e
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4) Between 5 and 6, a lady looked at her 4) 5 3f¥ ¢ a0t & 19 v® wfgen I T g
watch and mistaking the hour hand for the g3} gv v} 3k IH3 w2 ¥t ¥g &' e #t
minute hand, she thought that the time qE any forar ok 3/ @ i 3ud udt &1
was 57 minutes earlier than the correct |9Y WEl 99Y @ 57 fae ugd 2, @) qaee

time. The correct time was & Faraug gt w|IUT?
a)24 minutes past 5 a) 5 auieT 24 f=e
b) 12 minutes past 5 b) 5aw®T 12 fA=e
¢) 36 minutes past 5 ¢) 5aqu®T 36 =T

d) 48 minutes past 5 d) 5du®Y 48 fie
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5) The minute hand of a clock overtakes the 5) U® U3l &I e &1 ¥g We 90y & 76 fA=1e
hour hand at intervals of 76 min of the & 3V W Ue F! ¥ & Aradt 8, ot aagu

correct time. How much does a clock gain &n@mﬁ?ﬁm%ﬁmtﬁuhm
or lose in a day ? garat g ?
a) 198 min (loss) a) 198 fi=e (didh)
b) 198 min (gain) b) 198 fi=e ('a'ﬂ’)
199 169/209 min (loss) \ 199 169/209 fire ()

d) 199 min (gain) d) 199 fi=e @w)
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